Puzzle 8505 - Friday, 31 January, 2014 - Difficulty 10

14 1 y14 10 (18 if1e |
1 |7)2|4]3|6|8]5]|9
% 71727::::: 72757:" ‘:L,:iii::" ‘ 161117:
65|81 [7l9flal3]2
ééf::,‘ % L::::} i o w ‘ ————— i 72747:::
9|3 |4al2|5|8[1]6]7
Sp1j9)8|4]7]16 23
| a1 17 1 | - 1
7186|923 |5[a)1
| | 1767:::: éﬁiiiii:i:::’ééﬁ::]’ 71707:”::::: :1777::7: | |
24356 [1|[7]9]8
P O N N P
36 (17191 4)2|8/5
2’1""‘ ff:::,,::::‘ i : i : i 72707:’ ——
4|12 | 71385916
717 ;I-i: — é T _i 67:, ,,,,,,,,,,,,,,,
8l9(5)6 1|23 |7]4

Copyright (c) www.dailykillersudoku.com




